GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN
ACCORDANCE WITH THE 2020 (7th EDITION) OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE,
FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7—16 SHALL NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN

PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 9.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-16 SHALL BE
FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE W/ MAX,
(A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 9.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS
USED FOR VERIFICATION OF FASTENERS iN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626
OF THE ABOVE MENTIONED CODE AS PER AMERICAN TEST LAB REPORTS # 0425.01-00 AND # 0616.01—-05, PER
PROTOCOLS TAS-201, TAS—-202 AND TAS-203.

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A653 SQ, GRADE 40, WITH G-90 GALVANIZED
STEEL DESIGNATION & Fy= 52.3 ksi. (AFTER ROLLED)

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED. ALL
ALUMINUM EXTRUSIONS IN CONTACT WITH DISSIMILAR MATERIALS SHALL COMPLY WITH SECTION Ill-6 OF THE 2015 ALUMINUM

DESIGN MANUAL.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER
DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE
SECTION 2411.3.3.4.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AISI 304 SERIES STAINLESS STEEL, WITH 36 ksl MINIMUM YIELD
STRENGTH. .

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED).
(A) TO EXISTING POURED CONCRETE (f'c=3 ksi):
- 1/4” @ TAPCONS & MAXI-SET TAPCONS AS MANUFACTURED BY 1.T.W./BUILDEX.
- 1/4” ¢ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
-~ 1/4” 8 x 7/8” CALK-IN ANCHORS, 1/4”# ELCO male & female "PANELMATE” OR 1/4” @ ELCO male
"PANELMATE PLUS” AS MANUFACTURED BY DEWALT, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

- 1/4” 8 x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT
& SPECIALTY COMPANY.

NOTES:
A.1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHOR OR CRETE—FLEX SS4 ANCHORS IS 1 3/4",
FOR ELCO PANELMATES IS 2", FOR ELCO male "PANELMATE PLUS"” IS 2”.

A.2) 7/8" CALK-IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4” $-20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO
EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4”¢ x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8” INTO THE POURED
CONCRETE. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” @$-20 S.S. MACHINE SCREW USED SHALL
BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO STUCCO.

A.4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE

SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C-90):
- 1/4” ¢ TAPCONS & MAXI-SET TAPCONS AS MANUFACTURED BY I.T.W./BUILDEX.
~- 1/4” ¢ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ELCO PANELMATE, ELCO male “PANELMATE PLUS”, RED HEAD
DYNABOLT AND CRETE-FLEX SS4, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4”.

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
UNIT. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" $-20 SCREWS USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4"s x 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE
BLOCK. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” #-20 S.S. MACHINE SCREW USED SHALL BE
1 1/27 LONG MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS
INDICATED ON NOTES IN 8.1) & B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR’S
MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 8
(SHEET 2 & 3 OF 9) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER
IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
WOOD FRAME BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL
LENGTH.

10. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

11. (a) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF
THIS PRODUCT BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR’S RESPONSIBILITY.

(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WiLL
BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL
SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED IT.

12. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN
ACCORDANCE WITH SECTION 1709.9.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1709.9.2 OF THE FLORIDA BUILDING COODE.

THIS DRAWING SHALL ONLY BE USED TO
OBTAIN PERMITS IN THE STATE OF FLORIDA

- 1/4" 8 x 7/8” CALK-IN ANCHORS OR 1/4” @ ELCO male & female "PANELMATE” OR - Xme,,,”
- 1/4” # ELCO male "PANELMATE PLUS” AS MANUFACTURED BY DEWALT, INC. AND ELCO CONSTRUCTION W RIA. Ty, M,
PRODUCTS, RESPECTIVELY. | \\\\\\ ?5‘,\3 Q/ s 2 FLORIDA =BUILDING CODE (High Velocity Hurricane Zone)
- 3/8” ¢ RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX. S W Eng'-‘fp’-,, ©2020 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL MP
- 1/4” 8 x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT s - v Z STORM PANEL (2.25" DEEP) DRAWN BY:
& SPECIALTY COMPANY. £ 7 Nola T2
Sui 467 ;2 TiLlEco . EASTERN METAL SUPPLY, INC | =
: - M n. ey kN =
ST SWEOF o § S Tare & ENCNEETIG CONPAT, PUORE (Se11533- 300 20-185
Z O 1 OR\DP‘ '& s‘ Phone : rsas)ﬂé;rsg%dsf;;g: (305)871-1531 FAX: (561)588-4780
V/Wé\&&$® \\\\‘\ WALTER A. TLUT Jr. P.E o DTN | M L M ke chrnon S Jl DRAWMNG No
”’//,,“0N ALE s FLORIDA Lic. # 44167 ! RO e 3 SHEET 1 OF 9

WAL L LA




15.119" (TOTAL WIDTH)

12.000° (EFFECTIVE WIDTH)

({0) 4s aPPLICABLE

1.500" P 4.473" 1.500" 4.473" 1.500
! .
2 |
.030" THICK § Y
GALVANIZED = 8
1 N
——_ .
‘ 2.125"
3.000" Mox. 2.560"
(\‘,‘p"‘ e 2
in n
N N »
=~ = 0
i .' e+ —
T T \ '.# |
\ /ﬂ N |
125" k> 06 T8 & .
075" -, .8 3 8
b N S N 2
c

1.483"

050" OR .060"
j— .093"

DETAIL 1: stwp w/ DiE casT zine
NICKEL PLATED WING NUT

COMPONENTS

9.119° (TOTAL WIDTH)

6.000" (EFFECTIVE WIDTH) ) )
| §0) AS APPUCABLE f . m — [~ CONCRETE ANCHORS (SEE SCHEDULE)————— -—f . m’,‘
1.500" 4.473" 1.500" [ ° ° ]
| . e e R  SEEEERT
J |
|
\ _.030" THICK 8 .
N\ caLanizen 2 R N y 3
N of
| [
o N AEEENEEEEECE b, | BOLTED PANELS W/
, =11 B EEEEETC 1/40-20 x 1/2"
LL R o | S. 5 M S W/
7/8" X 3/32° WING
‘ NUTS @ OVERLAPS
1A HALF PANEL R A
SCALE : 3/8° = 1"
A .
2.560" — A
; = . 3 IR 1 N I R A Y I O O 0 O O A
F N
f %{ 5 Y 3[7 o o o o |T |
|l .o75" . CONCRETE ANCHORS (SEE SCHEDULE) — - L—f N o
Typ. L _— g
TORM_PAN TYPI LEVATION
N T S
2.340° 1/4" Max. GAP 1/4" Mox. GAP

— eo6e oF @

(OPTION TO 10)
\““""H""“

TIL

#.625"

Sxic— %
%ﬁ%ﬁw EOF o §
7 . "Q‘L’ F 6355 N 71, 33166

L/"‘(_/W

SECTION A-A

L

—~ 57" —
t = Min. .085"

KEY HOLE WASHER

3105-H154 Alum. ALLOY

SCALE : 3/8° = 1”7

N T S
‘]' ~ 1/4" # 304 SERES
/5 5. 5. STUD RIVETED To
& g .l ANGLE @ SPACINGS
Il © & SHOWN ON SECTIONS.
e e R B ?
i “di II g
¥ L3 v
& G 2 I »
20+ ik || 125
L] S
S %
5 X 8
g (9 STUDDED ANGLE | ‘
SCALE : 3/8" = 1° “[
5.000"
8344 s @ » » »
I
~8.317° SCALE : 3/8" = 1~
[ ) |
N I
@ iz ||

FLORIDA BUILD!NG CODE (High Veloclly Hurricane Zone)

©2020 TILTECO, INC.

/ TILIEC O e, \

TILLlT TESTING & ENGINEERING COMPANY
W. 36th, St Ste. 305, VIRGINIA GARDENS, Fl.
th. (305)871-1530 . Fox : (305)671-1531

CA~0006719

WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. # 44167

0.030" THICK GALVANIZED BERTHA STEEL M.P
STORM PANEL (2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 7/9/2020
4268 WEST ROADS DRIVE DATE:
WEST PALM BEACH, FL. 33407
T, et foe 20-185
RV, N0 DESCRPTION DATE | REV. Mo DESCA¥TION BATE DRAWING Ne
" = SHEET 1A OF 9




N CONCRETE ANCHORS ) Cont. CONCRETE ANCHORS CONCRETE ANCHORS
CONCRETE ANCHORS N J (SEE SCHEDULE) N (SEE SCHEDULE) \/} (SEE SCHEDULE)
(SEE SCHEDULE) Pt
-000" —41 Cont. — Cont.
= I . —_— s ~H 500" 5 |.500"
- =S i Niii | | N \ | L.
ir : 10 ) CONRETE N : |l } POURED Pf | 8§ POURED X ool st
| REQUIRED £b. N —@® CONCRETE ~ Ep. | | N CONCRETE ED. | L) e
POURED ED. N | \ (. \ | | | REQUIRED N REQUIRED N
s \ I | NN 0 NN .
N B @ cone \ N I N 0
] OO O O\ \
ke S NN | | SANAANANNAY , L ENNNNNY | ]
esmews || o B R e 1 gpme 1 ||
I FOR MINIMUM |
sgw%%w;o | | |—( ) SEPARATION T0 | ! 3 SEPARATION TO | [ SEPARATION TO | [ g
{ BxsTiG oSS | B EXISTING GLASS | g EXISTING GLASS | |_® EXISTING GLASS | |_® 3
[y W . : 3 ﬁ} ¥ ﬁ: T | §
1 | I 3 VI [ M A I I ~ [ i
| . | | ¢ | | S | | 8
V% I /% | g | v % o :
0 - = ® -20 x 1/2= Y 1/4% -20 x 1/2= w /49 -20 x 1/2*~ ~
I{Sms 23'/;/18/":(3/32 . e s ﬁ//;/aé.s/.sz | ; Ssms. Wy 7/bx3gaz" | W SSMS. W/ 7/853/32 . g
WING NUT © EVERY | [ x WING NUT @ EVERY | | g NG T 2 A | P o ' p i JA LI [ o
OVERLAP @ MIDSPAN Q OVERLAP @ MIDSPAN | b OVERYLP © MaDSPAN LA [ g | LA [ 2
| | [ 1 | . <
‘ v | | 5 Ll T ] § I ¥ ¥ T % ‘ v | ¥ - 7 ':
| 1 ] ! S
< | . =
| I B 7y | o | . g g s x ] O
¥ | | | ‘ I [ g BOLTS W/ 7/8" x | L
‘ ! | | g - —— n 7/4: #—-20 x | l I i 5 ; | ?égzo ugNG NUT ©
7 7T 2 / | ] | / I | | 3/4" 8OLTS W/ 7 //’ g /.{, , ¥ A IASS S S . C. ] | I
Ll ey, . | TaB x 332 / | I 3 7
L “ i ; .
N 717 B e | e || O 1 e=— |
- CONCRETE > ;
/e | || CONCRETE . EP- OR CONCRETE ED. 3320 VNG W7 O § | W /] |
POURED Al | OR CONCRETE BLOCK WALL POURED 7 1 000" |
CONCRETE I ! BLOCK WALL REQUIRED | CONCRETE 7 # - 1
OR CONCRETE 84 | | | REQUIRED ) OR CONCRETE S
e . ] i | ek | A =3
REQUIRED = ﬁﬂl | I — o = T 500" 1" Min.
f rooo” | | 1/4" 0-20x1/2" S.5.M.5.
// | | | / W/ NUT @ 12 0. C.
CONCRETE ANCHORS / CONCRETE ANCHORS (6) cont CONCRETE ANCHORS [ CONCRETE ANCHORS A Cont.
(SEE SCHEDULE) , 9) cont. (SEE SCHEDULE) (SEE SCHEDULE) / : . (SEE SCHEDULE)
s
SECTION @ ANCHOR WALL MOUNTING INSTALLATION BUILD OUT INSTALLATIO BUILD OUT IN. N
SECTION 2 SCALE : 3/8" = 1" SECTION 3 SCALE : 3/8" = 1” SECTION 4 SCALE : 3/8” = 1"
A
| ! | |
A
| AWy,
: : -l—@ ; SKRA T,
S e ENG Y YD
| | g ST CENS A,
777X 7777 AN | 4 £ No. 44167 z
| | |14 0-20x & —d * 3
A Y4B W 9 = 2 * E-
ep Al Ve wrE 8 =7, 2. SNEOF & §
/_| | 12" 0. C ] E D. = EDGE DISTANCE q % . Ao ok é@s
Al | §L (SEE_SCHEDULE ON ’r,,’o,oé. R TN
POURED_/ 7 . SHEET 5 ,6 & 7 OF 9) 7, Xy S/ON‘AL?—&\\“\‘
CONCRETE pd | § “tey, et
OR CONCRETE ) Y
iy 7| ’
7 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
et ©2020 TITECO, INC 0.030" THICK GALVANIZED BERTHA STEEL P
C ol DRAWN BY:
SECTION @ STUD NOTE FOR COMBINATION OF SECTIONS : STORM PANEL (2.25" DEEP) =
7/9/2020
WA OUNTING INSTALLATION WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE IIL I ECO EASTERN METAL SUPPLY, INC i
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION INC. 4268 WEST ROADS DRIVE
"o : WEST PALM BEACH, FL. 33407
SECTION 1 SCAE /8= 1 6355 K. 60, S S e Cumaar e AN PHONE: (561)533-6061 20—185
: DET# OF SECTION @ STUD VALID ALSO FOR Phone (.305).571—.1530'. Fox : (305)671—.15..77 FAX: (561 )585‘4730
O < B oG NSTALLATON oS (T0P) L T T T M e |  ORAWING No
FLORIDA Lic. # 44167 ! RD_17-008  [5/ 9030 : SHEET 2 OF 9
2




1/4 =20 S. S. MACHINE

.250"

Max.

Max. PANEL LENGTH (SEE SCHEDULE)

Cont.
CONCRETE ANCHORS \
(SEE SCHEDULE, N BOLT W/ NUT & WASHER
\ 0 12°0. C
- — — R 500" 17 Min,
T NE £
POURED
CONCRETE N L
REQUIRED 5
\ ED %)
N\
R \l‘\ SONER
(SEE SCHEDULE) FOR MINIMUM
SEPARATION TO EXISTING GLASS
| I\
ssus w/xA x 3/32° I I
| WING N | |
OVE?MP o MIDSPAN I |
L A L |
A‘ ; '
| I il
1/4" !—20 x .3/4 ] I
BOLTS W/ 7/8% x
3/32" WING NUT i i
| 0 12" 0. | [
NATE | [
LEG LOCATION | |
SN S b
7 | f
| |
| |
ED. 7
POURED _/ / ||
CONCRETE
OR CONCRETE =
BLOCK WALL I
REQUIRED - ——"H 1" Min—

CONCRETE ANCHORS
(SEE SCHEDULE)

Bt

17 Min.—L

Cont.

BUILD OUT INSTALLATION

— SECTION S

SCALE : 3/8"

= 1"

L 1/4" #-20 S. S. MACHINE
BOLT W/ NUT & WASHER
@ 12 0. C

I
1/4" 6-20 x
S.5.M.S. w/ 7 a x 3/32
WING NI
OVERI.AF o MIDSPAN

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE

|
|
|
|
|

| I

_{ (SEE SCHEDULE)
FOR MINIMUM

SEPARATION TO | . #-20 x
3/4" BoLTs W,
| exisinG GLass : V4 s Y
o w7 @
il - . C.
| s
I Cont, l ]
| I
| 1" | |
L i
LSS /’7 S SN S S S
1 A
-
CONCRETE ANCHORS 000" 7
(SEE SCHEDULE) /' _!1 000 7
POURED coNc‘Rm'—/ £.D: 4

REQUIRED

CEILING & FLOOR MOUNTING

SCALE : 3/8" = 1”

E. D. = EDGE DISTANCE
(SEE_SCHEDULE ON

SHEET 5, 6 & 7 OF 9)

INSTALLATION — SECTION 6

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

ALL POINT SOLID —SET OR

Mox. PANEL LENGTH (SEE SCHEDULE)

CALK—IN OR ELCO male/female N
CONCRETE ANCHORS | £D: — PANELMATE OR male PANELMATE PLUS
(SEE SCHEDULE) N\ 69 4 "$—20 SIDEWALK BOLT OR ©
E.D.AQ /1/4 6—20 TRUSSHEAD BOLT * ]
POURED CONCRETE rr % (SEE SCHEDULE FOR SPACING) 3 [
REQINED =~ Ul I % POURED = [
il =N N N o
\\\\ \\I\_ \‘\\ \\ _\I BLOCK WALL b
REOUIRED\ i [
B £p §| o
|”- 7E I | \\I J [
LEG LOCATION — | = | l RN | | I
| L AN NN |
OR | | | | | |
lf,;ﬁ- 0T X% | | (SEE SCHEDULE) L : :
7/8° x 3/32 | | A FOR MINIMUM |
WNG NUT © | l g SEPARATION TO : : :
. C. EXISTING GLASS
| A | —® § | AL L
| v T T ﬁ T | B
1/4" §-20 1/4" 9-20 x 1/2"
s/sus w/x7 x 3/32 II : a8 s{sus W/ 7/ x 3/32° : :
WING NUT WING NUT ©
OVERLAP o MIDSFAN | I S OVERLAP © MIDSPAN [
| Al | ! § | Al L
N I\
L 7 ] o | v T
(SEE SCHEDULE) | | | 2 ' bl
FOR MINMUM | I . | ! I
SEPARATION TO || | I § | [ [
| EXISTING GLASS || | | = | | |
ez % : : : LIRSS : : :
7/8” x 32
| 7 wgm NU,/ I A I
I 12° . ! ! _/ £p. ) [
l [ POURED I [
@0'? - | CONCRETE | |
. ol - i Z
Gt /AE// 7] e REQUIRED —Ei—;ﬁ» o
|y | [ D
ALL POINT SOLID —SET OR / | [
CONCRETE ANCHORS / E'Dé CALK—IN OR ELCO _moale/female W
(SEE SCHEDULE) 7 PANELMATE OR mole PANELMATE PLUS %
POURED CONCRETE £D: O D 0 S oLr ok o
REQUIRED ?’ (SEE SCHEDULE FOR SPACING)
CEILING & R_MOUNTING WALL MOUNTING INSTALLATION (D. M.)

INSTALLATION — SECTION 7

SCALE : 3/8" = t”

— SECTION 8

SCALE : 3/8" = 1"

*
SIDE WALK BOLTS ARE 3/4 ¢x.3 .32"7'HICK
HEAD MACHINE SCREW W/LEN

AS PER NOTES A2 & B.2 (S‘HEI:'I' 1)

TRUSS HEAD BOLTS ARE 2 ¢x1/8'7'H/CK
HEAD MACHINE SCREW W,
AS PER NOTES A2 & B2 (SHEEI' 1)

FLORIDA BUILDING CODE (High Velocily Hurricane Zone)

©2020 TILTECO, INC.

/TiLIEC O me. \

TILLIT TESTING & ENGINEERING COMPANY
St, Ste. 305, VIRGINIA GARDENS, FI. 33166
: (3058711530 . wa (305)871- 1531

CA~-0006719

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

2 4

0.030" THICK GALVANIZED BERTHA STEEL MP
STORM PANEL (2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 7/%/2020
4268 WEST ROADS DRIVE DATE:
WEST PALM BEACH, FL. 33407
e G 20-185
REV. NO DESCRIPTION MTE | REV. Mo DESCRIPTION ATE DRAWING No
. oo rrew pnee 3 SHEET 3 OF ©




CUT PANEL

e

2" x 4" x 1257

3105-H14 OR 6063-T6_ALLOY,

Cont, Alum. ANGLE

CASE A (Plan)

SCALE: 1/4" =

2" x 3" x .093% 3105 H-
6063-T6 ALLOY Cont. Alum. ANGLE
WITH ANCHORS @ 12" 0. C.

.//_072

/ POURED CONCRETE

R
/[ CONCRETE BLOCK WALL
] REQUIRED

CONCRETE ANCHORS

_.l
500" M/n

,

ggURED CONCRETE
CONCRETE BLOCK WALL

REQUIRED

_\\QVAR/ES 31
Max. |

he

N,

uuuuu

u o= (5)
| (@

—(2* =@
(7)o (8)

1/4° 8 BOLT 4" x 4" x .072"
€ 24" 0. C. 3105-H14 OR 6063-T6 ALLOY
W/JACKNUT Cont. Alum. ANGLE

CASE B (Plan)

SCALE: 1/4" = 1

END CLOSURES DETAILS

POURED CONCRETE
OR

CONCRETE BLOCK WALL
REQUIRED

CASE D (Plan)

SCALE: 1/4" =

MIN. <
1.50"% —
(REQD) Y,
N\
NN N

»”

POURED CONCRETE
OR

CONCRETE BLOCK WALL

REQUIRED

CONCRETE ANCHORS r
@ 12°0.C. 0~

1.000

2" x 2" x 055" T0_— |

2% x 5" x .055" Cont.
Alum. ANGLE OR

.080° 3105-H154 SHEET
METAL Alum. BENT PLATE

CASE C (Plan)

SCALE: 1/4” = 1

| ALTERNATE LEG LOCATION

o

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

POURED CONCRETE

WALL REQUIRED

'

e ——

X=BUILD oUT

DISTANCE

-

—

CASE E (Plan)

SCALE: 1/4” =

»

/ OR CONCRETE BLOCK

No. 44167

%‘jﬁ% STATE OF
7// 14/19

,,%: FLORION -

)

“Mmumm‘“

MAXIMUM APPLICABLE TO
PRESSURE RATING L (ft) 70 GLASS ANY COMBINATION
(p.s.f.) (SEE SECTIONS) OF THEM
+66.0, —76.0 7'—6" OR LESS 3" 11,2345 & 8
+60.0, —70.0 >7'-6" 70 8-6" 3° 1,2,3,45 & 8
+66.0, —76.0 7'—6" OR LESS 3 3/4" 6 & 7
+60.0, —70.0 >7'-6" TO 8'-6" 3 3/4” 6 & 7

(/] *
T

&
%

I”

g B

CORRESPONDING MAXIMUM PANEL LENGTH ’L” SCHEDULE

FLORIDA BUILDING CODE (High igh Velocily Hurricane Zone)

4

©2020 TILTECO, INC. 0. 030 THICK GALVANIZED BERTHA STEEL M.P
STORM PANEL (2.25" DEEP) DRAWN BY:
l IL | EC O EASTERN METAL SUPPLY, INC 7/9/2020
e WS
6355 N, ot S S o e MPANT. PHONE: (561)533-6081 20-185
Phona : (305§871-1530 . Fax : (305)871~1531 FAX: (561)588-4780
WALTES A TLLh . PE () oescenon | oare | Aev. Mo oeScarTON 3 DRAWHG No
FLORIDA Lic. §# 44167 : O 17-000  17/3/20%01 3 SHEET 4 OF 9




L TTEITILAA

[ MAXIMUM ANCHORS SPACING FOR E 0. = 3 1/2°
iy LL.W. BUILDEX ELCO CONSTRUCTION PRODUCTS DEWALT, %G ALL POINTS APPLIGABLE TO
RATING (p.8.t,) |TAPCONS/MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX SS4 MALE/FEMALE PANELMATE | MALE PANELMETE PLUS GALK-IN SOLG~SET m& W—L%
TO CONCRETE| TO BLOCK | TO CONCRETE| 70 BLOCK |TO CONCRETE| TO BLOCK |TO CONCRETE| TO BLOCK |70 CONCRETE| 70 BLock |To coworeTE| TO BLOCK TO CONCRETE| TO BLOCK OF THEM
127 N/A N/A N/A 12" N/A 12" N/A 12" N/A 12° N/A N/A N/A 1 (T0P)
12° 7" N/A 12" 12" 12° 12" 12* 12" 11" 12" n* 12" 12" 1 (BOTTOM)
12" N/A N/A N/A 12" N/A 122" N/A 12" N/A 127 N/A 127 12° 2 (ToP)
12" 7° N/A 12 12° 12° 127 12" 12° 11" 12* 11* N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 12" N/A 2" N/A 12~ N/A 12* N/A N/A N/A 3 (Top)
12 7 N/A 12" 2" 12 2° 12" 12" " 12 1m” A e 3 (6oTTow) ¥ MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2” EDGE DISTANCE.
+60.0, —61.5| 12* N/A N/A N/A 12" N/A 12* N/A 12 N/A 12* N/A N/A N/A 4 (T0P) 6-0" OR LESS FOR E. D. LESS THAN 3 1/2", REDUCE ANCHOR SPACING BY
= = = = . " " " - . S MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
2 4 ML 1 2 2 2 2 2 o L i a2 O S i FACTORS. (NOTE : Min. E. D. FOR CALK-IN ANCHORS IS 2 1/2°)
12° N/A N/A N/A 12° N/A 127 N/A 12* N/A 12° N/A N/A N/A 5 (T0P) FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED
= 5 . - . . - . . . . USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
= 4 v = 2 i 2 L L 10 2 i Mo A | S eomok) INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
12" N/A N/A N/A 12" N/A 12° N/A 12* N/A 12° N/A N/A N/A 6 (ToP)
12° N/A N/A NA 12* N/A 12* N/A 12* N/A 12* N/A N/A N/A & (BOTTOM) FACTOR
12" N/A N/A N/A 12° N/A 12" N/A 12° N/A 1" N/A N/A N/A 7 (TOR/BOTTOM) ACTUAL E. D. TAPCON /
N/A N/A N/A N/A N/A N/A 12” 12" 12* 12" 12* 1" 12° 12° |8 (TOP/BOTTOM) CRETE—FLEX SS4/| CALK—IN SOLID—-SET |RED HD. SLEEVE
_—_L___———Lﬁ PANELM JES
MAUMUM MAXIMUM ANCHORS SPACING FOR E D. = 3 1/2" »* ”»
AS.D. DESIGN LL.W. BUILDEX ELCO CONSTRUCTION PRODUCTS DEWALT, INC. ALL PONTS APPUICABLE TO 3 - 75 .78 1.00
RATING (p.s.t} TAPCONS /MAXI—-SET TAPCONS RED HO SLEEVE CRETE-FLEX 5S4 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID—-SET m& mi% 2 7/2 ” — 50 - , 00
TO CONCRETE| TO BLOCK |TO COWCRETE | 1O BLOCK TD CONCRETE| TD BLOCK TO CONCRETE | TU BLOCK TD CONCRETE | TO BLOCK | TD CONCRETE| 7O BLOCK | TD CONCRETE| TO BLOCK OF THEM . )
12° N/A N/A N/A 127 N/A 12° N/A 22" N/A 12" N/A N/A N/A 1 (ToP) 2" - - - 0.88
12* 6" N/A 12° 12 12 12* 1" 12" 10" 12° 9" 12- 12 1 (BOTTOM) 1 172" .35 - - —
12° N/A N/A N/A 127 N/A 12" N/A 12" N/A 127 N/A 12° 12" 2 (ToP)
127 6" N/A 12" 127 12° 12° 1° 12" 10" 127 9" N/A N/A 2 (BOTTOM) ANCHORS GEND
127 N/A N/A N/A 12" N/A 127 N/A 12° N/A 127 N/A N/A N/A 3 (T0P) LE
12° 6" N/A 127 127 12° 12" 1" 127 10" 12" 9” N/A N/A 3 (BOTTOM) ANCHORS ?47/5/-/ OR
+66.0, ~72.0 12" N/A N/A N/A 12 N/A 127 N/A 12" N/A 12* N/A N/A N/A 4 (TOP) 6°-0" OR LESS TYPE SPA'CING E. D. = EDGE DISTANCE
12" 6" N/A 12* 12" 12° 127 11" 12* 10" 12° - N/A N/A 4 (BOTTOM)
127 N/A N/A NA 12* NA 12* NA 12° N/A 12" NA N/A N/A 5 (TOP) TAPCON/ 4.0"
12" 4" N/A 12* 12* 9" 12" 8" 12" 7" 12* 6" N/A N/A 5 (BOTTOM) PANELMATES
12" N/A N/A N/A 12" N/A 12° N/A 12° N/A 12° N/A N/A N/A 6 (TOP) CALK—IN 2.5”
12 N/A N/A NA 12 N/A 12" NA 12" NA 11° N N/A NA 6 (BOTTOM) )
10" N/A N/A N/A 12* N/A 12* N/A 12° N/A o N/A N/A N/A 7 (TOP/BOTTOM) SOLID—SET 35" \\\\ w\;l;;‘ ll‘_;. ; Zm,,”’
. \ - (/
N/A N/A N/A N/A /A N/A 12° 1" 12° P 12 9" 12 12 |8 (Tor/B0TTOM) \\\\\‘ Y\:\E ......... ,[/7‘ ‘/”f’,
e ) e — ] ™ . " ”,
Mo o MRS S PR E B = 3 /E = T 3/8°8 RED HD. 45" SNUTVCENSe P Y
AS.D. DESIGN LT.W. BUILDEX ELCO CONSTRUCTION PRODUCTS DEWALT, INC ALL POINTS APPUCABLE. TO DYNABOLT SLEEVE ' R A
RATING (p.a.f) |PAPCONS/MAXI—SET TAPCONS RED HD SLEEVE CRETE-FLEX 554 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK=-IN SOLID-SET mﬂ m"mw,_’:% = 0. 441 67 .
TO CONCRETE| TO BLOCK |TO CONCRETE| TO BLOCK |TD CONCRETE| TO BLOCK |TO CONCRETE| To BLOcK | To CowCRETE| 70 BLoox | To cowereTe| 7o Brock | ro cowncrere T0 BLOCK OF THEM CRETE FLEX 554 60" : * E*
12" N/A N/A N/A 12* N/A 12° N/A 12" N/A 12° NA N/A N/A 1 (10P) ’ 7/[ W STATE OF ':Q-
127 6" N/A 2> 12° 12" 12* 10" 12" 8" 12" 9" 12" 12" 1 (BOTTOM) ”,5’90 ,42 ORlD‘)‘ é,"’ §
12° N/A N/A N/A 12 N/A 12" N/A 12 NA 12" N/A 12° 12 2 (10P) . ”',,:%‘&Sl . E“Q}\w\:\\\‘\
x /) 0
= & L L - L = 107 20 L 12 = NA NA L 2 (60w FOR ANCHOR TYPES 4 SPACING. FOR K 'm,.g.':’.ﬁk. o
12" N/A N/A N/A 12" N/A 122" N/A 12" N/A 12" N/A N/A N/A 3 (TOP) INSTALLATIONS INTO WOOD FRAME BUILDINGS.
12" &” N/A 12" 12° 12° 12" 10" 12° g" 12* 9" N/A N/A 3 (BOTTOM)
+60.0, -61.5| 127 N/A N/A NA 12* NA 12* N/A 12" N/A 12" N/A N/A N/A 4 (Top)  |>6'-0" TO 7'-67]
12° " N/A 12~ 12" 12" 12* 10" 12" 9" 12° [-i N/A N/A 4 (BOTTOM)
12" N/A N/A N/A 127 N/A 12* N/A 12* N/A 12* N/A N/A N/A 5 (TOP)
2" + /A 1” 12* 8 12° 7 12* 6 2° 6" /A e 5 (8oTrom) FLORIDA BUILDING CODE (High Veloclly Hurricane Zone)
2° N/A N/A /A 12" N/A 12 /A 12" N/A 12° N/A /A N/A 6 (ToF) ©2020 TILTECO, INC. 0.030" THICK GALVANIZED BERTHA STEEL MP
11° N/A N/A N4 12* NA 12’ N/A 12" N/A 12 N4 N/A N/A 6 (BOTTOM) STORM PANEL (2.25" DEEP) DRAWN BY:
9" N/A N/A N/A 12" N/A 12 N/A 12" N/A 12~ N/A N/A N/A 7 (TOP/BOTTOM) E ASTERN MET AL SU PPLY’ |NC 7/9/2020
N/A N/A N/A N/A N/A N/A 127 10 12 5 12° 9 12 12° |8 (roe/BomTOM) IIL I E C O INC. 4268 WEST ROADS DRIVE DATE:
TILLIT TESTING & ENGINEERING COMPANY WESJH;:‘E‘,‘ BEACH, FL. 33407
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl, 33166 : (561)533-6061 20-185
Phone : (305871-1530 . Fox : (305)871—153 FAX: (561)588-4780
WALEI?AA-.O%ZLSI;',gr. PE REV. NO DESCRIPTION DATE | MEV. No DESCRIFTION ATE DRAWING No
FLORIDA Lic. § 44167 1 o0 17-089 __|7/9/%000] 8 SHEET 5 OF 9
2 4




MAXIMUM ANCHORS SPACING FOR E. D. = J 1/2% **

MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"

AS.D. DESIGN LT.W. BALDEX ELOO CONSTRUCTION PRODUCTS DEWALT, INC ALL PONTS APPLICABLE TO
mmz ) [TAPCONS/MA0-SET TAPCONS RED HD SLEEVE CRETE-FLEX 5S4 MALE/TEMALE PANELMATE MALE PANELMETE PLUS CALK—-IN SOLID~SET m,,‘;ﬂ mmuui%
TO CONCRETE| TO BLOCK | TO CONCRETE| T0 BLOCK | TD CONCRETE| TO BLOCK |0 CONCRETE| T BLOCK | TO COMCRETE| 10 BLOCK | TD CONCRETE| 70 BLOCK | TO CONCRETE| 10 BLock OF THEM
12* N/A N/A N/A 12" N/A 12" N/A 12" N/A 12° N/A N/A N/A 1 (TOP)
12" 5" N/A 12" 12" 10" 12* 9" 12" 8" 12* 7" 12" 2" 1 (BOTTOM)
127 N/A N/A N/A 127 N/A 12° N/A 12° N/A 127 N/A 12" 12" 2 (ToP)
12* 5" N/A 12° 12° 10" 12* 9" 22" 8" 12* 7" N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 12" N/A 12° N/A 12° N/A 12° N/A N/A N/A 3 (TOP)
12° 5° N/A 127 12° 10" 12* 9”° 127 8" 12* rad N/A N/A 3 (BOTTOM)
+66.0, —72.0 12* N/A N/A N/A 12* N/A 12" N/A 12" N/A 12" N/A N/A N/A 4 (TOP) 1>6°-0" T0 7'-6"
12° 5" N/A 12* 12* 10° 12° 9° 12* 8 12" 7" N/A N/A 4 (BOTTOM)
127 N/A N/A N/A 12" N/A 12" N/A 12° N/A 12" N/A N/A N/A 5 (T0P)
1" N/A N/A 8" 12" 6" 12” 5" 12" ¢ 1" 4" N/A N/A 5 (BOTTOM)
12" N/A N/A N/A 12~ N/A 2" N/A 12" N/A 1 N/A N/A N/A 6 (ToP)
9" N/A N/A N/A 12° N/A 12" N/A 12" N/A 8" N/A N/A N/A 6 (BOTTOM)
8* N/A N/A N/A 11" N/A 12" N/A 10° N/A 7" N/A N/A N/A 7 (TOF/BOTTOM)
N/A N/A N/A N/A 6" 9" 12° 6" 12* 7" 12" 12* 8 (TOP/BOTTOM)

Am.f’wm LI.W. BUNDEX ELDO CONSTRUCTION PRODUCTS DEWALT, INC ALL PONTS APPLICABLE TO
m”mﬂ ) [TAPCONS/MAXI—SET TAPCONS HD SLEEVE CRETE-FLEX 554 MALE/TEMALE PANELWATE MALE' PANELMETE PLUS CALK—-IN SOLID—SET m,;ﬂ mi%
TO CONCRETE| TO BLOUK | TU CONCRETE| TO BLOCK |TO CONCRETE| 70 BLOCK |TO CONCRETE| 7TU BLOCK |TO CONCRETE| TO BLOCK |To CONCRETE| 1D BLOCK | 7D CONCRETE 70 BLOCK OF THEM
127 N/A N/A N/A 12" N/A 12" N/A 12" N/A 12* N/A N/A N/A 1 (T0P)
12" 5" N/A 12* 12* 1" 12° 9" 12 8" 12° 8” 12* 12* 1 (BOTTOM)
127 N/A N/A N/A 12" N/A 12° N/A 12" N/A 127 N/A 127 12* 2 (TOP)
2" 5" N/A 127 122" 1° 12" 9" 127 8" 12" 8" N/A N/A 2 (BOTTOM)
12” N/A N/A N/A 12" N/A 12* N/A 12* N/A 12° N/A N/A N/A 3 (TOP)
12* 5" N/A 12" 12" 7" 12* 9" 12" 8” 12” 8" N/A N/A 3 (BOTTOM)
+60.0, —61.5 127 N/A N/A N/A 127 N/A 127 N/A 12° N/A 127 N/A N/A N/A 4 (TOP) |>7'~6" TO &'-6"
12* 5* N/A 12" 12" "" 12” 9" 127 8" 12* 8" N/A N/A 4 (BOTTOM)
12* N/A N/A N/A 12" N/A 12* N/A 12" N/A 12* N/A NAA N/A 5 (ToP)
12° N/A N/A 9° 127 6" 12" 5% 12" 4" 12* 4" N/A N/A 5 (BOTTOM)
9" N/A N/A N/A 12" N/A 12* N/A 12° N/A 11" N/A N/A N/A 6 (TOP)
127 N/A N/A NAA 12° N/A 12* N/A 12° N/A 9" N/A N/A N/A 6 (BOTTOM)
8" N/A N/A N/A n” N/A 12" N/A 11" N/A 7 N/A N/A NAA 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12* 9" 12° 6" 12" & 12° 12" & (TOP/BOTIOM)
MANIMUM MAXIMUM ANCHORS SPACMG FOR E. D. = 3 1/27 **
AS.D. DESIGN LT.W. BURLDEX £LCO CONSTRUCTION PRODUCTS DEWALT, NC ALL PONTS APPLICABLE
Mmfr. ) |TAPCONS/MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX 554 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID-SET W@N{n‘;ﬂ ,_‘@,‘,"’";,.,,,"".l'i‘”(f,})
TO CONCRETE| TO BLOCK | TO CONCRETE| TO BLOCK | TD CONCRETE| TO BLOCK | T0 COWCRETE| 7O sLock |10 cowcreTe| 10 Biock | 1o cowcreTe| 70 BLocx | o concrere| 10 BLock OF THEM
127 N/A N/A N/A 12" N/A 12~ N/A 127 N/A 12* N/A N/A N/A 1 (TOP)
12" 4" N/A 12" 12" 9" 12* 8" 12" 7 12° 6" 12* 227 1 (BOTTOM)
12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 12* N/A 127 12° 2 (ToP)’
12” 4 N/A 12° 12" 9" 12* 8" 12* 7" 12° &* N/A N/A 2 (8OTTOM)
12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 2" N/A N/A N/A 3 (ToP)
12* 4" N/A 12" 12" 9" 12* 8" 12" ral 12" 6" N/A N/A 3 (BOTIOM)
+66.0, —72.0 12° N/A N/A N/A 127 N/A 12" N/A 12" N/A 12* N/A N/A N/A 4 (T0P) >7'~6" TO 8'-6"
12" 4" N/A 12" 12" 2 12" 8" 12" 7" 12" 6" N/A NAA 4 (BOTTOM)
12" N/A N/A N/A 12~ N/A 12" N/A 12* N/A 12° N/A N/A N/A 5 (ToP)
e N/A N/A Fad 12" 5" 127 4" 12" 3° 9" 3" N/A N/A 5 (BOTTOM)
"n* N/A N/A N/A 127 N/A 12° N/A 12° N/A 10" N/A N/A N/A 6 (TOP)
8" N/A N/A N/A 2" N/A 1m° NA 17" N/A 7" N/A N/A N/A & (BOTTOM)
7" N/A N/A N/A 9" N/A 10" N/A 9" N/A [l N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12° 8" 12" 6" 12° 6" 12" 12" & (TOF/BOTIOM)

*¥ MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE.,
FOR E. D. LESS THAN 3 1/2", REDUCE ANCHOR SPACING BY
MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
FACTORS. (NOTE : Min. E. D. FOR CALK~IN ANCHORS IS 2 1/2").
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED
USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.

FACTOR
ACTUAL E. D. TAPCON/
CRETE—FLEX $S4/| CALK—IN | SOLID-SET |RED HD. SLEEVE
PANELMATES
3" - .75 .78 1.00
2 1/2" - .50 - 1.00
2" - - - 0.88
1 172”7 .35 - - -
ANCHORS LEGEND
AN R
ANCHORS M//\? HO
TYPE SPACING E. D. = EDGE DISTANCE
TAPCON,/ L0
PANELMATES ’
CALK—IN 2.5”
_ . \“mmmm,,
SOLID-SET 3.5 \\\/\?’9\ A TiLy //\ ",
” \\ \/ LA v/ ',
3/8°¢ RED HD. L5 S OGENSE Pl
DYNABOLT SLEEVE 3 A
0. 44167 | %
CRETE FLEX SS4 6.0" >* H 1ol g
STATEOF - f¢ $
',,’ LOR\‘)} é"b\s
*SEE NOTES ON SHEET 8 & 9 OF 9 ’f,,,SS/o'N}{\\,E\\ -
FOR ANCHOR TYPES & SPACING FOR o

LA
INSTALLATIONS INTO WOOD FRAME BUILDINGS.

FLORIDA BUILDING CODE (High Velocily Hurricane Zone)

©2020 TILTECO, INC. 0.030 THICK GALVANIZED BERTHA STEEL MP
STORM PANEL (2.25" DEEP) DRAWN BY:
|"_ I ECO EASTERN METAL SUPPLY, INC 7/9/2020
ine. wesl5E, YeoL oS ot “
TILL:,TW TJEsthISAYI'G & J%VG'NEER'NG CO%P;;A,’;; PHONE: (56 1)533-6061 20- 185
Phone : (Josjsn 1530 . Fox : (305)871-1531 FAX: (561)S88—-4780
WALTES 4 Teer . P wcw | oesowenon | owE | mvme | omownov | awE | DRAWING No
FLORIDA Lic. § 44167 1 O 17-088 _ |7/5/2020] s SHEET & OF 9
2 4




L

1”"“.'.

MAXIMUM ANCHORS SPACING FOR E D. = 3 1/2" =
A.S.D. DESIGN LT.W. BULDEX £1CO CONSTRUCTION PRODUCTS DEWALY, NC ALL PONTS APPLICABLE TO
RATING (a7, |TAPCOWS/MAXI—SET TAPCONS RED HD SLEEVE CRETE—FLEX 554 MALE/FEMALE PANELMATE | MALE PANELMETE PLUS GALK-IN SoLIO—SET el | e e
TO CONCRETE| TO BLOCK |TO CONCRETE| TO BLOCK |TU CONCRETE| TOD BLOCK | TO CONCRETE| TO BLOCK |TD CONCRETE| TO BLOCK |10 CONCRETE| 70 BLOCK TO CONCRETE| TO BLOCK OF THEM
12" N/A N/A N/A 12* N/A 12" N/A 12" N/A 12" N/A N/A N/A 1 (TOP)
12" 6" N/A 12" 12* 12" 12" " 12" 9" 127 9" 1227 12" 1 (BOTTOM)
12* N/A N/A N/A 12" N/A 22* N/A 12" N/A 12" N/A 12" 12" 2 (ToP)
12 5" N/A 12” 12" - 12 - 12 9* 12" 9 N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 12" N/A 12* N/A 2" N/A 12" N/A NAA N/A 3 (ToP) ** MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2” EDGE DISTANCE,
- " 5 = : - . S . . " FOR E. D. LESS THAN 3 1/2°, REDUCE ANCHOR SPACING BY
2 s A = . 2 = " 2 2 2 2 4 NA__} 3 feoTTon) MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
+66.0, ~76.0| 12" N/A N/A N/A 12" N/A 12° N/A 12° N/A 12" N/A N/A N/A 4 (ToP) 6°-0" OR LESS FACTORS. (NOTE : Min. E. D. FOR CALK—IN ANCHORS IS 2 1/2%).
12" P N/A 127 12 12° 12° P 12" 9" 12" 9" N/A N/A 4 (BOTTOM) FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED
- - = USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
12° N/A N/A N/A - N/A 12 N/A 2 N/A 12 N/A NA NA 5 (T0F) INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
12° + N/A 12" 12" 8" 12" 7" 12" 6" 127 6" NAA N/A 5 (BOTTOM)
127 N/A N/A N/A 12" N/A 12* N/A 12" N/A 12* N/A N/A N/A 6 (T0P) FACTOR
1" N/A N/A N 12* N/A 12" N/A 12 N/A 16" N/A N/A N/A 6 (80TTOM) ACTUAL E. D. TAPCON/
o N/ N/A N/A 12° /A 12" /A 12° N/ 9" /A N/ NA 7 (T0P/BOTTOM) CR%E—FLEXTE§4/ CALK—IN SOLID-SET |RED HD. SLEEVE
N/A N/A N/A N/A N/A N/A 12" 1" 12* 5" 12" 9" 12* 12° 8 (TOP/BOTIOM) 3" _ 75 78 1.00
MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° o 2 1/2" —- .50 — 1.00
AS.D. DESIGN LT.W. BALDEX ELCO CONSTRUCTION PRODUCTS DEWALT, WC ALL POINTS APPLICABLE TO
M‘ﬂl NGBS("P_" f,. ) |TAPCONS /MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX SS4 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID—SET Mssz:wmu 's’n:” %HW,_% 2" = - - 0.88
7D CONCRETE | TO BLOCK |70 CONCRETE| 70 BLOCK |TO CONCRETE| TO BLOCK |TD CONCRETE| TO BLOCK | TO CONCRETE| TO BLOCK |10 CONCRETE 0 BLOCK TO CONCRETE| TO BLOCK OF THEM 7 1/2" 35
12" N/A N/A N/A 12" N/A 12° N/A 12" N/A 12* N/A N/A N/A 1 (TOoP) . —
12* 4" N/A 127 127 107 127 8° 12" 7 1/2° 12° ral 12° 12° 1 (BOTTOM)
122* N/A N/A N/A 12° N/A 12* N/A 12° N/A 12° N/A 127 12° 2 (TOR) ANCHORS LEG, END
12* 5" N/A 12° 12" 0 12* 8" 12* 7 1/2° 12* 7" N/A N/A 2 (BOTTOM)
. . - . " ANCHOR
12 N/A N/A N/A 12 N/A 12 N/A 12 N/A 12 N/A N/A N/A 3 (ToP) ANCHORS MIN
12" 4" NA 12* 12° 10" 12* 8" 12* 7 12" 12" 7" N/A N/A 3 (80TTOM) TYPE SPACING E. D. = EDGE DISTANCE
+66.0, —76.0 12* N/A N/A N/A 12~ N/A 12° N/A 127 N/A 12* N/A N/A N/A 4 (TOP) |>6'—0" TO 7'-6"
12" 4" N/A 12" 127 10 12" 8" 127 7 12" 12” 7" N/A N/A 4 (BOTTOM) TAPCON/ 4.0”
PANELMATES
12" N/A N/A N/A 127 N/A 127 N/A 12* NA 12* N/A N/A NAA 5 (T0P)
10 1/2" N/A N/A 7 1/2" 12° 5 12" 4 12" e 10 1/2" 4" N/A N/A 5 (BOTTOM) CALK~IN 2.5"
1127 | na NA NA 12" N/A 12 N/A 12" N/A 101/2" | n/a NA NA 6 (ToF) Wity
]
9 N/A N/A N/A 12” N/A 12" N/A 11 1/2° N/A 8" N/A N/A N/A € (BOTTOM) SOLID—-SET 3.5 \\\\\ \(::\\;\ A. ‘” Z ‘Z’ ", >
I
7 12" N/A N/A N/A 0 1/2" N/A 17 1/2° N/A 10" N/A 7" N/A N/A N/A 7 (TOP/BOTTOM) ‘\\\\V:\‘ EN " ‘4?
» ")
N/A N/A NA N/A N/A N/A 12° 8 12* 6 12" 7 12 12° |8 (ror/BoTTOM) 3/8°0 RED HD. 4.5" 5 S \>G SF Ilk
— — —— —— — — — DYNABOLT SLEEVE 3
o MAXMUM ANCHORS SPACING FOR E D. = 3 1/2" # = 44167
AS.D. DESIGN LT.W. BUNDEX ELCO CONSTRUCTION PRODUCTS DEWALT, INC ALL POINTS APPLICABLE TO . . .
m‘”’mzss(uqu_,. ) |PAPCONS MAXI-SET TAPCONS RED HD SLEEVE CRETE-FLEX SS4 MALE/FEMALE PANELMATE MALE PANELMETE PLUS CALK—IN SOLID-SET Wszcmnowsmznfm %"7_% CRETE FLEX SS54 6.0 = *
TO CONCRETE | 7O BLOCK | TO COWCRETE| 70 BLOCK |TD CONCRETE| 10 BLOCK |To CONCRETE| To BLock |10 concrReTe| 7o Biook | cowcrere| To Blocx | TO CONCRETE| To BLock OF THEM %’7% STATEOF ‘%‘
127 N/A N/A N/A 12° N/A 12° N/A 12" N/A 12° N/A N/A N/A 1 (TOP) ”2'90 Yy { 0 R\OP‘ éO
2 . N/A . . . - 7 2* . 12 6 2° 12* 1 (soTTOM, , L S YN S
d : - 2 - = 2 : d ' . ' et *SEE NOTES ON SHEET 8 & 9 OF 9 “, ’SS/QNA ES“".\“
12- N/A N/A N/A 12" N/A 12° N/A 12° N/A 12" N/A 12° 12* 2 (ToP) FOR ANCHOR TYPES & SPACING FOR 'lm,,,,,,,mm
12 pE /A 12" 12" o 12 - 12 pm 12 p N/ NA 2 (BoTTOM) INSTALLATIONS INTO WOOD FRAME BUILDINGS.,
12* N/A N/A N/A 12" N/A 12" N/A 12* N/A 12* N/A N/A N/A 3 (T0P)
12" 4 N/A 12" 12" 9" 12" 7 12" 6" 12" 5" N/A N/A 3 (BOTTOM)
+66.0, ~70.0 12* N/A N/A N/A 12° N/A 12* N/A 12" N/A 1z* N/A N/A N/A 4 (TOP) >7'~6" TO §'-6"]
12° 4+ N/A 12" 12* N/A 12* 7" 12° 6" 12* 6" N/A N/A 4 (BOTTOM)
2y e v\ oA L e | v | Lowa v dwp Ler | o wa | MA L wa | 5o FLORIDA_BUILDING CODE (High Velocity Hurricane Zone)
8 N/A N/A 6 12 N/A 1 N/A 11 3 8 3 N/A N/A 5 (BOTTOM) £2020 TLIECO, INC. 0.030" THICK GALVAN’ZED BERTHA STEEL MP
10" N/A N/A N/A 12" N/A 12" N/A 12" N/A 9" N/A N/A N/A 6 (T0P) STORM PANEL (2.25" DEEP) DRAWN BY:
8" N/A N/A N/A 12" N/A 10" N/A 10" N/A 7" N/A N/A N/A 6 (BOTTOM) 7/9/2020
- - - - I IL I ECO EASTERN METAL SUPPLY, INC 7%/20:
7" N/A N/A N/A 9 N/A 10 N/A 9 N/A 6 N/A N/A N/A 7 (TOF/BOTTOM) INC. 4268 WEST ROADS DRIVE DATE:
= = = . . 5 = . WEST PALM BEACH, FL. 33407
NA N/A ) N/A N/A N/A 12 7 12 6 12 s 12 12 |8 (ror/soTTOM) e, 0 o I CNEERTNE, LOMPANY | PHONE: (561)533-6061 20-185
)a71—1530 Fox : (305)871-1531 FAX: (561)588-4780
WME’gAATa%‘ng"gn PE V. MO DESCRIPTION BT | AEV. Mo DESCRIPTION aTE DRAWING No
FLORIDA Lic. § 44167 ? o 17-099  17/%/2080] 3 SHEET 7 OF 9
2 4




1/4" # LAG SCREW
© 6°0.C W 1 1/2° MIN. L 1% x 2" x .125" (MIN.) ALUM. A

THREADED PENETRATION TO / T \ ! g TUBE W/ 1/4" ¢ LAG SCREW T \ . V=
EXISTING WOOD HEADER. L\ @ 60 C W/ 1 1/2" MIN. i ] 2
ZES » THREADED PENETRATION TO 1/4” @ LAG SCREW
A & EXISTING WOOD HEADER. | l_ oo @60 C W 1 1/2" MIN.
; . 5 THREADED PENETRATION TO
. g F (1 &8 EXISTING WOOD HEADER.
. (=] 9 /-‘ o] ey 2 B // E &
Big v / : o x " Olx
I R = P — “Nj 2 A \( J E$_+ & "
L1 a
1 £\ I | ! VAN AN I e i
= g IS % =\l 8
Cont. N 13 Cont. . Bt ]
= E A YA Cont.
—Q) , i
WOOD HEADER —®
REQUIRED REQUIRED REQUIRED

(SEE SCHEDULE)

FOR Min. SEPARATION
TO EXISTING GLASS

I

—® |  "ooD HEADER
!
|

—®

7/8" 8 x 3/32°
WING NUT @

FS‘EE SCHEDULE)|
FOR Min.

| seParaTION TO
IEXISﬂNG GLASS

FOR Min. SEPARATION
Iro existiNG GLass

L A

ALTERNATIVE 3

FOR Min. SEPARATION
TO EXISTING GLASS

l A

l
|
|
|
| wooo Heaper :
|
|
[
|
|

|
|
|
|
l
(SEE SCHEDULE) I
|
|
|
|

A

L}

ALTERNATIVE 5

|
|
! (SEE SCHEDULE)
|
|
|

Y
ALTERNATIVE 1

Max. PANEL LENGTH (SEE NOTES BELOW)

Max. PANEL LENGTH (SEE NOTES BELOW)
Mox. PANEL LENGTH (SEE NOTES BELOW)

4
L 1 r A
SEE SCHEDULE) ! [ | \ T (9) cont.
prwn 1 | —® | | —® 1/4" 6~20 S. S.
SEPARATION 70 (SEE SCHEDULE) | 0, goLTs © 12° 0. C.
|existive eLass | o FOR M~ | | W/ NUT & WASHER
I | e o3z | Bastive oLass | | Cont.
2
| EVERY STUD @ ] | ©
T P sl n | @ |
Fd | ”
_ | \ 1/4* @ LAG SCREW
I | _ [E] | ] @ 6" 0. C. W/ 1 1/2" MIN.
=1 o I THREADED PENETRATION TO
g | gl | | ZR EXISTING WOOD HEADER.
& /47 9-20 x -
Y \@ om ke ety ' W
ont. X L 1/4" 0-20 x o
§ L/ Cont. WING NUT @ B 3/4% BOLTS yy lIII I'l \ I|I
_\/.; 12" 0. C 5 Cont. /8" x 3/32 '_\,/
4 \1/4" ¢ 1AG ScREW o WING NUT ©
/ . . 2" x 4" PLATE | . .
/ ©670.C W/ 1 1/2" MIN. REQUIRED : 1/4" & LAG SCREW 1270 ¢ WooD STUD
; THREADED PENETRATION T0 - . » A\ 14" 0 146 screw -
’ | 4 A ] ©® 6"0. C W/ 1 1/2" MIN. @ 24" 0. C.
;] EXISTING WOOD HEADER. Lo\ THREADED PENETRATION TO © 67 0. C._ W/ 1 1/2" MIN. REQUIRED
1k \ EXISTING WOOD HEADER. THREADED PENETRATION 70
t ' EXISTING WOOD HEADER,
2" x 4" PLATE
REQUIRED WooD STUD

e © ALTERNATIVE 7
ALTERNATIVE 2 ALTE, IVE 4 ALTERNATIVE 6

WALL MOUNTING INSTALLATIONS
SECTIONS A

SCALE : 1/4" = 1°

NOTE FOR COMBINATION OF SECTIONS:

N ANY WAY O SUIT ANY, INSTALLATION, INSTALLATION DETAILS ON ,,%‘g‘@ﬂ% WOOD BUILDINGS |
\\\V{’\{f o, FLORIDA BUILDING CODE (High Velocily Hurricane Zone)

“§ QUENSe 3 P 0.030" THICK GALVANIZED BERTHA STEEL e
] E STORM PANEL (2.25" DEEP) DRAWN BY:

TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407

N
: §= o No. 44167 ". EE 7/9/2020
1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING £, * ' IIL I ECO EASTERN METAL SUPPLY, INC o
AND MAX. PANEL LENGTHS AS PER SCHEDULE ON SHEET 4 OF 9 % i § INC. 4268 WEST ROADS DRIVE :
s 305

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN z g ™ ‘Q 6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (561)533-6061 20~-185
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. 7/ & 4% F[_oR\D \Q \\\" Phone : (305}875133)%6;;7 § (305)671-1531 — FAX; n(smlsvaa—ﬂso _ DRAWING Mo
7, wrteaeeet g o WALTER A. TILLIT Jr. P.E. 2 i 33 ) o
”l/,,ff:' ON A\-_(::\iu“‘ FLORIDA Lic. f 44167 L oo o e 3 SHEET 8 OF 9




1/4" ¢ LAG SCREW &
67 0. C. W/ 1 1/2" Min. THREADED

NN NN

.500"

SNON NN
EQ
.II‘ s

F—5 5=

WOOD HEADER
REQUIRED

(SEE SCHEDULE)

FOR Min. SEPARATION

TO EXISTING GLASS

Cont.

A
L

1” Min.

PENETRATION TO EXISTING WOOD HEADER.

7/4 #-20 S. S. BOLTS @
12" 0. C. W/ NUT & WASHER

3
3
N

W

—®

o

Cont.

Max. PANEL LENGTH (SEE NOTES BELOW,

ALTERNATIVE 8

(SEE SCHEDULE)

FOR Min. SEPARATION
TO EXISTING GLASS

ALTERNATE

e

Max. PANEL LENGTH (SEE NOTES BELOW,

N

00D

O\ N

I|
1\
|

1 |

\\\\E

L\ ';;\_
I’"srupy s

24" 0. C.
ﬂfOUIRED

\

X‘_L

.500”

-

|
\

\

.r\
4

ALTERNATIVE 9

5 \1/4 #-20 x 3/4"

8oLTs w/ 7/8" x
3/32" WING i
@ 12" 0. C.

1/4" #~20 S. S.
HOLTS @

12" 0. C. W,
NUT & WASHER.

1/4" @ LAG SCREW @
6 0. C. W/ 1 1/2" Min. THREADED
PENETRATION TO EXISTING WOOD HEADER.

1/4"

PENETRATION.

7/8" x 3/32*

\ 2.‘\ :

Min. ¥

s

I wooD HEADER

: REQUIRED
WSEE SCHEDULE)

1__FOR Min.
ISEPARATION TO
IEXISTING GLASS

1/4" ¢ LAG SCREW

@~20 ELCO male/female ';/g!GONLéT @
ANELMATE OR Mole PANELMATE PLUS A . C.
@ 12° 0.c. W/ 1 7/8" Min. THREADED— o
|
7/8" 8 x 3/32° : I
WING NUT @ H i o
EVERY STUD © I | 53
12°0. ¢ { (SEE SCHEDULE) N
l FOR Min. bl ]
| SEPARATION TO } o0
: EXISTING GLASS | 5
I | T2 2 5 6
1 | x M
\ | 3 WOOD DECK
! 0 REQUIRED
| (NO FINISH
Cont. ! /—ALLOWED)
= |
g, WO, g
——
1° k I

|
|
I
!
|
|
|
]
|
|
I
|
|
|
!
I |
[
| |
|

1

A
¥

ALTERNATIVE 10

—A

W/ 1 1/2 Min. THREADED
PENETRATION @ 4" O.C.

ALTERNATIVE 1

WOOD TRUSSES OR RAFTER

&SEE SCHEDULE) X

I __FOR Min.
ISEPARATION TO

IEXISTING GLASS |

|
|
|
|
|
|
|
!
|
|
|
|

Max. PANEL LENGTH (SEE NOTES BELOW)

@ 24" 0. C. REQUIRED

—®

N / |
g 2 N IX ‘
% ),( \\ |\'; \— © MIDWIDTH OF PLATE 1/4% x 3/4"
AN\ | N ITW BUILDEX
woop A |\ “N—1/4" #2-20 ELCO male/female TEK SCREWS
Woon _/ \ o\ PANELMATE OR Male PANELMATE PLUS @ 6" ocC.
paTE \\ \ Ul e 12°°0.C. W/ 1 7/8" Min. THREADED
1\ W[ PeveTraTion. —A— Cont. |
4 |\ -\\ u\ ‘ . (SEE SCHEDULE) |
/] | \ | _FOR Min. |
% .ﬁ \ L | SEPARATION TO |
\ \ \ | EXISTING GLASS |
\ N i
\ L
Al | A

ALTERNATIVE 11

WALL MOUNTING INSTALLATIONS

SECTIONS A

SCALE :

1/4" =

”

= \_soss

ALTERNATIVE 2

NOTE FOR COMBINATION OF SECTIONS:

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

INSTALLATION DETAILS ONw~

-0")

3/32~

@ 127

(Max. DESIGN LOAD= :t 61.0 psf
Max. PANEL LOAD= 8

1” x 4° x 1/8" (Min.)
—T75 Alum. TUBE

W/ (2) 5/16" ¢

SCREWS AT MIDWIDTH

EXISTING WOOD MEMBER,
(27 Min. NOMINAL WIDTH,

2 1/2° Mln THRI
FoniErifrio

N-1/4" 6-20 x 3/4"
BOLTS W/ 7/3/

WING NUT
0. C

CEILING

WOOD TRUSSES OR RAFTER

/_ © 24" 0. C. REQUIRED
— e
Z L AL L Ll
1" x 4" x 1/8" (Min.)
@a.;;}rss;l;gm TUBE
[ ]
—h— .500" i .500" LAG SCREW TO EACH
! ~ | N RAFTER OR TRUSS. LOCATE
1 1/4% x 3/47/ oS SCREWS AT MIDWIDTH OF
VW BULDEX N —@ EXISTING WOOD MEMBER,
| TEK SCREWS | Cont (27 Min. NOMINAL WIDTH)
I @6 oc |y Cont w/z 1/2 Min. THREADED
i |
|
| (seE scHeDULE) L)
I~ __FOR Min. I
| SEPARATION TO I
‘l EXISTING GLASS :
A s

ALTERNATIVE 3

(Max. DESIGN LOAD= #+ 61.0 psf
Max. PANEL LOAD= 8 ¥ -0" )

(SEE SCHEDULE)

|
{
|
!
)

SEPARATION TO

| EXISTING GLASS

FOR Min.

2" x 6"
WOOD DECK
REQUIRED
(NO FINISH
ALLOWED)

OF

ED

G _WOOD BUILDINGS

/ i 1
/ £0 | 0 \—7/4 920 x 3/4°
8 7
1/4" 8 LAG SCREW LTS W/ 7/8

3/32" WING NUT
W/ 1 1/2 Min. THREADED @ 12" 0. C.
PENETRATION @ 4” O.C.

ALTERNATIVE 4

& FLOOR MOUNTING INSTALLATIONS

SECTIONS B

SCALE : 1/4" = 1~

\\\\\\;\ .......... /}:/'f,,, FLORIDA BUILDING CODE {High Velocily Hurricane Zone)
= S0 ENSg'--.jP % PEE— 0.030" THICK GALVANIZED BERTHA STEEL wp
E— s No. 44167 % STORM PANEL (2.25" DEEP) DRAWN BY:

1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING g 0. P
AND MAX. PANEL LENGTHS AS PER SCHEDULE ON SHEET 4 OF 9, EXCEPT .l % ‘% = / I".lE co M. \ EASTERN METAL SUPPLY, INC 7/;{;’:20
: ~0” = ;= 4268 WEST ROADS DRIVE B
EZ:T géo_gG/?vLngAVg T/gfg S:L-ZG/;A? PJS‘;‘4 547-74)(& ng Ebsé‘gNGTH oF 8707 AND 4 &%ATE OF &3 JULLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407
] . ., - O . 2 }\ (Z,L’“‘ 6355 N.W. Jsth St Ste, £l 33166 PHONE: (561)533-6061 20_ 185
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN Ve & W LORIOP -V Phons j”é}'fé%a Jar Far © (SO 1357 FAX: (561)588-4780 :
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ’r,,” Q’S"Eﬁ \“\* WALTER 4 TULT o, P.E v m | oesomenon | s | mvwe | omcwenon | e | DRAWING No
I/,,”“r NA\:N““‘ FLORIDA Lic. # 44167 ; OLD 17-080__|7//2020 : SHEET 9 OF ©




